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(1) y"+4y +4y=sin’x+e*

2) y"+y"-2y=0, y(0)=1'(0)



(1) y"+4y +4y=sin’x+e "
RIRAERAD—MEZRD DL

y=e" ZRAL. 1 OBEARRKY +41+4=0%fE< &
=201 oN b

KO TRIRARBKXD—MREEIL y=Ce™ +Cyxe ™ ---@D

lm

FREEZERDH D

. . 1 2 .
y'+4y +4y =sin’ x +e " <:>y”+4y'+4y=§—cos2 e

y'+4y'+4y =%l:y =AZHRAT D&



COS2x

V'+4y +4y =— [Zy = Bcos(2x) + Csin(2x)Zx XA T 5 &
8C cos(2x) —8Bsin(2x) = — COZZ’“
“B=0C=—t
16

yrr+4yr+4y _ e—2x':y — sze_zxjé'ﬁj\ﬁ'é t
2De ™ =
D=2

2
& o THIRAEIL.

1 1 . 1 5 .
=———sin(2x)+—x"e " -

Y 8 16 ( ) 2 2

D,Q& Y —fEAZ(

1 1 1
—Ce > +C,xe*  +———sin(2x)+—x’e >
Yo ? 8 16 (2] 2



2) y"+y"-2y=0; »(0)=1'(0)=0, y"(0)=0

=R AEK

y=e" AL, 1 DEFAERL +17-2=0%E< &

A+ -2=(A- )( +2l+2)=0c}: Y

fEA=1,-1xih\FoNnd

A=1& Yy=Ce"

A=-1ti &Y y=Ce ™™ +Ce™ ™" =™ (C, cos(x)+C, sin(x))

& > TR [Ty =Cie" +e(C, cos(x)+C,sin(x))



y'=Ce —e" {(C2 — C3)cos(x)+(C2 + Q)sin(x)}
y'=Ce —e” (2C3 cos(x)—-2C, sin(x))

PEAEHZRALT,

y(0)=1 C +C, =1 (€ =2/5
1'(0)=0 < 1C-C,+C,=0 < C,=3/5
\y"(()):() C-2C=0 G, =1/5

K O>THILy =%ex +e (%cos(x)+%sin(x)j



